. BERFE X

( Zp1)
T & % R b5 1) s B e & T G2
. P C i VLR 0 M7 VN 13
+
= v 7 U — Kk ock = 50 N/mm2 m3 114.4
Hr
R = & t 286. 0
T
a7 Y —k ock = 30 N/mm2 m3 25.9 23.5+2. 4
K| A P m2 16.8 12.5+4.3
A 0 4110 373, 6m+37. 36m
P C W M SWPRI9L 1S21.8 927. 3Kg+92. 7Kg
( kg ) (1, 020) LELEP
1S21. 8 . 40+4
- s
HH PeEET EAEKES T e i T L—  6.90° 00" 00.0”
> — s 635 m 95. 0 86. 4+8. 6
7 7 vk ¢ 35/ m 411.0 373.6+37. 4
wooR 5 T 1R R 4 m 88.0 44, 0+44. 0
HH
o7 Y —Fk ock = 30 N/mm2 m3 8.9
HE | e m2 2.9
SD345 D13 kg 1129
i
Bk i SD345 D25 kg 1056
T | M1
g & &t kg 2185




(ZD2)

T & va R b5 1) S B g & T Ci)
BENRS IEfF, CR+SS400| #¢ 16 12 X 4)=
370X 220 X 88 (m2) (1.302) G
N . e [VREIBGIESS, CR+SS400) 4% 13 14X 4)
370X 270 X 96 (m2) ( 1.299 ) [l 2 fh
% YEEBEE At CR+SS400|  # 13 - 12X 3=
320X 220X 74 w2 {6915 [l 2 fh
S35CN, ST-SGN12
EB5D 55 X 1240| ¥ ’
ﬁ 2 AU xF L Xk, FRP
S35CN, ST-SGN12
> — 4k X # ’
Bt 7 > 7 — 35 @ | M42D ¢ 42 970 | #H 12 U F LRI FRP
S35CN, ST-SGN12
M42D 42 < b ’
7K 90| A = RYxTF LNk, FRP
150 X 250 X 20 ¥ 24 12 CRRAR ¥
& fik H CRAR Y
% % _ AN b
150 150 20 ¥ 12 = 0 7, (KA
Moom 8% SD295 D10 kg 106. 8
| #% = L % U A m3 0. 308
TV —EE L Z )L I A8 m3 0. 125
=z v 7 U — Kk ock = 24 N/mm2 m3 29.5
R
sl W m2 33.5
H
SD345 D13 kg |—488 394
L SD345 D16 kg |-527- 391
£k i)
o SD345 D19 kg |H059— 765
& &t kg |—2074- 1550
hi
* e T H= 3.7 mn 723 98.0
T




(D3 )

T 4 i B 1% {7 » R g =
2 v 7 U — b | ock = 24 N/mm2 m3 27.1

Hyo A P m2 146. 6
7S i SD345 D13 kg 1432

% | H Hiy M| =T A% A K, t=10mm| m2 0.7
Vo % k 60 X 30mm m 7.9

T | K8 Y VA v b 30 X 30mm m 88.5

FEAE 1=39. 3m

iz 7 rm s T
g | O F v 7 MR | B m 44.1 Kbk -4 8n
- S R S ¥ m3 0.41
R
[F] E Gl g m2 3.6
T
BB T A 3 v t = 35 mm m2 320. 5
Mok 7 2 3 v t = 40 mm m2 320. 5
H
FHH LT A = t = 31 mm m2 201. 6
fil
B | a7 U—k ock = 18 N/mm2 m3 7.5
3 e = . Wk 38. 6m/100m2
B K e B w2 320.5 B A4 49. Om/100m2
=
D 5mm X 30mm m 104. 8
%
BR T A 3 v t = 30 mm m2 77.4
o
ka7 U—k | gck = 18 N/mm2 m3 10. 0
T
1 VAl =2 E KA 38. 6m/100m2
H | B 2 e BB m2 7.4 B HiA4 49. 0m/100m2
o A ROH M AE 5mm X 30mm m 90. 3
5]




( ZFm4)
TfE 4 N A ¥ AL W & i 22
- .
i (Fhvadb) HaEfH] NxR-30H m 3.6 FE$
T — SD345 D16 kg 24 #ro A
%
figx=2> 27 U —F | ock = 36 N/mm2 m3 2.1 wEmE T
B . varFk
3 — %
> J M 50 X 30 1 5.7
T
4 ﬁﬁ:\f ‘73’\"
HE 7K o FC250 , SS400 HH 4 WO = 20.6 ke/se
b ATV T $18 m 88.6 1221, 05 =93. 0
e owro o oKk
AT TE, ¢12 m 43.3 1221, 05 =45. 5
7K
oW oEm ok & AFY T H12 m 21.7 nAR1, 05 =22. 8
T 2T 7 KL — v SUS304 # 8 QRHRXE D A
HOowm A B E M CfiE, H=850 mm m 426 HEn A v %
g R B CFE, H=1000 mm m 42.3 Hgp A > %
. e HEHS FMCS-p385 FEHFIC |
1:% VARV ) % ]\ AR H=850 ﬁﬂ 46
N N TEES FMCS-p4100 FERIC 4
A A i&?ﬁzﬁ H-1000 I 46
oz v 7 U — b ock = 24 N/mm2 m3 0-85
Bl om P m2 81
SD345 D13 kg 40
B i SD345 D16 kg 97 82
B
& i kg 57
L v — b m2 2.0
Tu s Xl
T # 1 350X 150 X 13 L 4
=N T
1 s I = e s

300 X200X13




EMIAL Y BER

A1-P1EEH

P1-A2%H

T va R H % = Riva BRYE Y | fiF E:d
BT o M BT o M
P C i VLR 0 AT VN 11 2 13
=7 B ock = 50 N/mm2 m3 8.8 8.8 114. 4
IR - SRy - R m2 59. 4 59. 6 772.6
g} s
i A T TR P m2 35.4 460. 2
+
SD345 D10 kg 414 5382
SD345 D13 kg 11 143
Bk h
i} SD345 D25 kg 183 2379
& &t kg 608 7904
p c # M SWPR7BL  1S15. 2B kg 530. 5 92.7 6896. 5 SESE
T S
T/E:/F I m 44.0 8.6 572.0
v o — A
MOREH v — R ¢ 42 m 23.2 301. 6
" = t 22.0 22.0 286. 0




2. E M T ( EMT1IAYY )
2-1 A1-P1£R

950

170

# & 21900
21100 800
‘
T, = T g T g T g T 2 ——8
] i i it ] | 'T|
600 3770 560 3640 560 3640 560 3640 6560 2970 1400Q
4300 4200 4200 4200 4300
350 X M 21200 35
N= 13 K , 0 90° 00’ 00.0”
B OUE S (AL AL
3 640 30
al 120/ 50,300 50 |/ 120
Y
A
al = 0.3616 m2
O
Il!.)
- 11 = 2.624 m
Lo
< 1 al’ 0.2515 m2
=
= 1= 1.958 m
A
L1 = 3.770 m




30
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o o — o o [«
1 | | A | 1 | | R | [
NN ™ ™ o »m ™™ T ™ < < <f
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SCRARMTER (FFAT)

ab

0.5510 m2

Lo
©

2.480 m

15 =
L5

1.200 m

056

15

SCRHHTER (ST

580

290

290

0.5566 m2

I
io
©

2.582 m

15" =

1.200 m

L5 =

30 .30

B ()

]‘.ﬁ
5]

A

580
400

90

90,

ab

0.2086 m2

©

a

3.656 m

16 =
L6

0.800 m

08T




HRREHTES (FMT)
30,30 580
a6’ 90 _ 400 90

a6’ = 0.2142 m2
- 16 = 3.758 m
Lo
< 6= 0.800 m

110

2-1-1 =27 Y—F ( ock = 50 N/mm2 )

($H#7) V = 0.3616 X 3.770 + 0.3856 X 10.920 + 0.3776 X 2.970

+ 0.5621 X 2.240 + 0.5510 X 1.200 + 0.2086 X 0.800
= 8.8 m3

(A1) V = 0.3616 X 3.770 + 0.3856 X 10.920 + 0.3776 X 2.970
+ 0.5621 X 2.240 + 0.5566 X 1.200 + 0.2142 X 0.800
= 8.8 m3

2-1-2 A P
AR, A, JECA

(FHT) A = 2.624 X (3.770 + 10.920 + 2.970 ) + 2.684 X 2.240 + 2.480 X 1.200
+ 3.656 X 0.800 + 0.5510 X 1.000000 ¢ &Ikt ) X 2
= 59.4 m2

(M) A

2.624 X (3.770 + 10.920 + 2.970 ) + 2.684 X 2.240 + 2.582 X 1.200
+ 3.758 X 0.800 + 0.5566 X 1.000000 { &kt ) X 2
= 59.6 m2



A = 1.958 X 3.

770 + 1.838 X 10.920 + 1.878 X 2.970

+ (0.2515 X 2 4+ 0.2275 X 6 + 0.2355 X 2 ) X 1.000000 € &It »

= 35.4 m2

2-1-3 &
4 }%‘? % =7
7% O T w

( kg )

D10 414 e 2R
D13 SD345 11 a2
D25 183 a2
o 608

2-1-4 PCHAMT ( SWPR7BL 1S15.2B , &RE&FET )

E & AR ¥ HEE
(m/A& ) | (A& )] (kg/m)
21.900 22 1. 101

W =21.900 X 22 X 1.101

= 530.5 kg

2-1-56 R Fay hao—LHI—2A

k& | A%
(m/A& ) | CA)

R FNL A

4. 500 8

WA KL A

2. 000 4

L =4.500 X 8 + 2.000 X 4

= 44.0 m



2-1-6 BEFFH—= (942 )

. . E X | A%

" X
(m/A&) [( K)
0.580 X 1.000000 ¢ £tk » 0. 580 40

L = 0.580 X 40
= 23.2 m

2-1-7 3L % 5 &

(FH) W= 88 X 2.5 t/m3
= 22.0 t

KT W= 8.8 X 2.5 t/m3
= 220 t




3. ML M T
3-1 A1-P1£ERH

al 90

850

[ap)

P KT
a2 150
i |
! !
2 |
© [ [
! !
I I
Y | |
22 A i
(e)
o~
12 30, 30
30 30
& AT
ad 150
o
Lo
(@)

al

11 =
L1 =

a2
12
L2

a3l
13
L3

a4

0.0783
0. 030
17. 660

0.1293
0. 030
2. 240

0. 1425
0. 150
2.000

0. 0021

m2

m2

m2

m2



3-1-1 =27 Y—F ( ock = 30 N/mm2 )

V = (0.0783 X 17.660 + 0.1293 X 2.240 + 0.1425 X 2.000 ) X 12
= 23.5 m3

A= {0.030 X 17.660 + 0.030 X 2.240 -+ 0.150 X 2.000
+ (0.1425 + 0.0021 X 2 ) X 1.000000 ¢ &kt ) } X 12

= 12.5 m2

3-1-3 PCHAAT ( SWPRIOL 1S21.8 , &E&HET )

k& A% HUEE
(m/A& ) | (A )] (kg/m)
9.340 | 40 2. 482

L = 9.340 X 40
= 373.600 m

W = 373.600 X 2.482
= 927.3 kg

3-1-4 PCERIET. ( 1S21. 81, E&EEESEGT , E¥ESL—F , 0 = 90° 00 00.0” )

N = 40 /7w



3-1-5 ¥ — =& ( 635 )
L0 = (0.150 + 0.015 X 2 ) X 1.000000 ¢ £+t %

= 0.180 m

N =40 X 12
= 480 K

L = 0.180 X 480
= 86.4 m

3-1-6 777~ ( » 354 )

L= 373.6 m - ARE®D [3-1-3 PCHFH] LD

3-1-7 BB T ( AR 2 )

L = 22.000 X 2
= 44.0 m



3-2 P1-A2%%FH

al 90

850

[ap)

P KT
a2 150
i |
! !
2 |
© [ [
! !
I I
Y | |
22 A i
(e)
o~
12 30, 30
30 30
& AT
ad 150
o
Lo
(@)

al

11 =
L1 =

a2

12 =

L2

a3l

13 =

L3

a4

0030 m
2240 m



3-2-1 =227 Y—F (ock = 30 N/mm2 )

L i R B B e L R T e
= 235 m3
Vo= (0.1425 X 1.400 ) X 12
= 2.4 m3
3-2-2 W M

A = £0.030 X 17660+ 00302240 -+ 0 150 X 2 000
= 125 m2
A= {0.150 X 1.400 + ( 0.1425 -+ 0.0021 X 2 ) X 1.000000 ¢ £kt » } x 12
= 4.3 m2
3-2-3 PCHARS ( SWPRIOL 1S21.8 , &E&HET )

k& | A %| BrEE
(m/A& ) | (A )] (kg/m)
9.340 48 4 2. 482

L =09.340 X 18 4
= 168420 m 37.360 m

W = 1681202482 37.360 X 2.482

= 413 ke 92.7 kg

3-2-4 PCERIET ( 1S21.8H, EHEHEEET , ML —F , 0 = 90° 000 00.0” )

N = 18 s=1k 4 7w



3-2-5 —& ( ¢35 )

LO = (0.150 + 0.015 X 2 ) X 1.000000 ¢ &t »
= 0.180 m

N=>x+142 4 X 12
= 216 A 48 K

L = 63480—<—=2+6 0.180 X 48
= 389 m 8.6 m

326 Z7Z7u kK ( ¢$354)
L = 1684 m - AIHD [3-2-3 PCHIK ] XV
37.4 m
3-2-7 BHL ( RS e S )

L = 22.000 X 2
= 44.0 m



3-3 EERAMT T

W | X

30,30 9340

30,

30

T

OO N N
N

950
70 670 189
30

,ﬂ/?\,/%,\,

'ﬂiiéi 80

a0

950

v
640 JsL 580

| 580 150 640
350 12 % 730=8760 350
il m =
3000
600 1800 600
800 200 800

950

770 18
| |

| |

,_____
|
I
|
|
H—
|

al 0.3424 m2 a2z

a3 = 0.2142 m2 a4 =

0.

0.

1425 m2

2086 m2




3-3-1 =227 YU—F (ock = 30 N/mm2 )

V =0.3424 X 1.800 X 13 + ( 0.1425 X 12 + 0.2142 X 2
+ 0.2086 X 11 ) X 0.200
= 8.9 m3

3-3-2 W Mg

A =0.200 X { (0.670 + 0.030 + 0.042 + 0.070 + 0.350 ) X 2
+ 8.760 } + 1.800 X 0.180 X 2

= 2.9 m2
3-3-3 #
g &
£ R T =
( kg )
D13 1129 X EHX 2R
D25 SD345 1056 X EHX 2R
arat 2185




4. X K T

4-1 TLFK ( WEIFG ), CR+SS400 , [RIZESL

E X B& X EX | K #

SR i =
( mm ) (%)

Al 370 X 220 X 88 | 16 | 12X4JF

P1 370 X 270 X 96 |26(13)| 14X4J

A2 320 < 220 x4 B 12X 3k

A1-A = 0.370 X 0.220 X 16
= 1.302 m2 (0. 08m2 /1)

P1-A = 0.370 X 0.270 X 26(13)
= 2597 m2 1.299 m2 (0. 1m2/1)

A2=A— 0320022013
= 0915 m2

4-2 EET A —4EE ( S35CN , AYxF L2 NIIFRP , ST-SGN12 )

ey & X k& ML Ex
( mm ) ( #1)
Al M42D | $42 X 970 12
Pt E55D | ¢B5- x-1240 12
Az M2h w42 X950 12

4-3 Bkt (1 CRARLY )

g X kS X ES | A &

SRR
( mm ) (&)
Al 150 X 250 X 20 12
P1 150 X 150 X 20 12 |FXE D

A2 150 < 250 <20 12




4-4 fHTERE ( SD295 )

£ X EX NI G ;N HATEE
( mm ) Al P1 A2 ( kg/m )
DI0 X 300 160 — 17
DI0 X 350 —  |2606(130) -
0. 560
D10 X 400 — — 9+
D10 X 450 112 |208(104) -

Al-W= ( 0.300 X 160 + 0.450 X 112 ) X 0.560
= 55.1 kg

P1-W= ( 0.350 X 266130 + 0.450 X 268104 ) X 0.560
= 1034 ke 51.7 kg

= 400 ke

W= 56561 + 1034 51.7 + 406
= 1985 ke 106.8 kg

4-5 e A (0 EIHE )

ES X E X BEx (HEE) | 7tk
SRR -
( mm ) C 771 )
470 320
=10 X 390 X 35 (20) 3
470 320
Al 470 X 390 X 35 (20) 11
470 320
=05 X 390 X 35 (20) 2
470 370
=10 X 110 X 34 (20) 13
P1
470 376
X NS
10 0 35 £20) 13
420 320
X NS
120 390 35 £20) H
A2
420 320
X NS
155 390 35 £20) 2




A1-V= ( 0.505 X 0.355 X 0.035 + 0.540 X 0.390 X 0.020 ) X 3
+ (0.470 X 0.355 X 0.035 + 0.470 X 0.390 X 0.020 ) X 11
+ (0.4875 X 0.355 X 0.035 + 0.505 X 0.390 X 0.020 ) X 2
= 0.156 m3 (0.010m3/fE X< 10fE =0. 10m3/101#)

P1-V= ( 0.505 X 0.405 X 0.034 + 0.540 X 0.440 X 0.020 ) X 13

= 0307 m3 0.152 m3 (0.012m3/f X 10{& =0.12m3/101#)

—  HH w3

V = 0.156 + 636% 0.152 =03+
= 654 m3 0.308 m3

4-6 T —EEN LI ( METHRE )

A B’ X kX 7\‘/77%/*‘**03 /fﬁ)fif(
( mm ) FiAHE (mm ) | 77T )
Al ¢ 150 X 630 530 12
Pt 5175 X 770 —B70 12
AZ 4150 %X 610 —a10 12

Al-V= /4 X (0.150°2 X 0.630 — 0.042°2 X 0.530 ) X 12
= 0.125 m3

V = 0.125 4+=6203—=—0-12+
= 06449 m3 0.125 m3



5. BEHI LR T

0061z & i

80151

GL16

£€68

068

i ¥ s

. @« —
N
D
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a
1O
@ =
[wn]
® H &
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al = 16.972 m2 11 = 18.570 m
a2 = 13.156 m2 12 = 16.516 m
PR THERR al’ = 2.502 m2)
(AR THERR a2 = 1. 145 m2) TE) mREIL. CADEHI L v B,
Wr i
30 30
a4 ab
: \' : a4 0. 0260
i o i
o Bl M | (E#M) L4 = 14.995
Lo | " 1
= B ! (FHif) L4 = 15.108
o : i !
Ce— '( | ab = 0.0255
(Byemn  Lb 2. 280
(FyfE)  Ls = 2.280
5-1 =227 U —hk (ock = 24 N/mm2 )

V = (16.972 +13.156 ) X 0.950
+ 0.0260 X ( 14.995 + 15.108 ) + 0.0255 X ( 2.280 + 2.280 )

= 29.5 m3

5-2

=

A = 18.570 X 0.950 + ( 0.0260 X 2 + 0.0255 ) X 1.000000 ( £tk »

+ 16.516 X 0.950 + ( 0.0260 X 2 + 0.0255 ) X 1.000000 ¢ &It »

= 33.5 m2



5-3 & #%

H &
£ O WO

( kg )
D13 488 394 | HEXHZ MR
D16 SD345 527 391 | ®ENE SR
D19 1059 765 | EREFXES R

& 2 2074 1550

-4 X R LT
H= 37n

V= (16.972 — 2.502 + 13.156 — 1.145 ) X 3.7
= 98.0 Z%m3



6. Ht & T

i
gD LS
11 600 al
y A
—~ —~| <
o} ™| b~
A <t C‘:’J
2 RS 11
y Y
AL
=
o —
<< 1y
2 2 ALHTHRES ©  al
h Y
45)_
BEOHE A
12 600 a2

a2

L2

A2HToER a2

45 0 ad

H) () AHER, FEEERT,
) OREHEE, HimTom S 277,

al =

L1 =

12 =

a3 =
L3 =

0.3334
1. 711
15. 402

0. 3520

0. 3570
1.703
29. 005

0. 0255
6. 390

0. 3606

m2

m2

m2

m2

m2



%282
(272)

AL
950

%284

A24H] -
950

T i A

iR Y H LI
a4 400 14
E§ a4
a 14
&
3 AMTERER © a4
145
B
ab 400 15

3 as
S
(=
[0.9]
[ee]

A2HToER - ab

a6 3 145

H) () AHER, FEEERT,
) OREHEE, HimTom S 277,

L4 =

Lb =

ab =
L6 =

0. 2364
1. 569
15. 186

0. 2404

0. 2652
1. 583
28. 886

0. 0255
6. 390

0.2672

m2

m2

m2

m2

m2



880

368

a7

il (H #358) A (H H#3E)
600 H Hikt (a7) H ikt (a8)
(t=10mm) (t=10mm)
A
£ =
Y y

= 0.3999 m2

308

880

l
> <

>

a8 = 0.3023 m2



6-1 =227 Y —bF (ock = 24 N/mm2 )

V = 0.3334 X 15.402 + 0.3570 X 29.005 + 0.0255 X 6.390
+ 0.2364 X 15.186 + 0.2652 X 28.886 + 0.0255 X 6.390
= 27.1 m3

A =1.711 X 15.402 + 1.703 X 29.005 + 0.3520 X 1.1200 ¢ A} )
+ (0.3606 + 0.0255 ) X 1.000000 { A&ttt )
+ 1.569 X 15.186 + 1.583 X 28.886 + 0.2404 X 1.0025 { #% )
+ (0.2672 + 0.0255 ) X 1.000000 { A&ttt )

=  146.6 m2
6-3 $&
4 g % S
7 R 1 G2
( kg )
D13 SD345 7 | RN
1432

6-4 H #1 ¥ ( TIALA R t= 10 mm )

A = 0.3999 + 0.3023
= 0.7 m2

65V v b ( 60X30mm )

L = 032 + 0.326 + 0.600 X 2 + 1.206 + 1.206
+ 0.264 + 0.266 + 0.400 X 2 + 1.144 + 1.145
= 7.9 m

6-6 KBV VHE >+ ( 30X30mm )

L= 73714 + 8059 + 6.991 + 21.995
+ 5.961 + 9.238 + 6.878 + 21.995
= 88.5 m



-1

-2

73

BRT oy

HE A

20 ER7uavr
( WmmR% , BRE )

180
ST L2 L
E— al = 0.0094 m2
~o ¥

230

28,

250
>

(41)
(11)

[ %43

.
AL
5]

i

TV

) () WAL ‘FEEZRT,
E)  REIHEE, fmTomS 287,

AUATERHS %49

AL{HIF

ER7wy s (0 W@k, BfE)  Okik 8EFT)

L = 44.083 FEYE 39.3 m
= 44.1 m ie73 4.8 m

ST L Z L

V = 0.0094 X 44.083
= 0.41 m3

[

A =0.041 X 44.083 X 2 + 0.043 X 0.230 X 1.0000 { &l )
+ 0.049 X 0.230 X 1.000000 ¢ £+t )
= 3.6 m2
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i 22 (0 ()

A1-PI£E[#] | GEL S1 Cl | EC-1 | €2 C3 C4 C5 |1+10.9/ C6 C7 S2 GE2
tl 124 | 125 | 119 | 101 93 77 75 79 84 87 98 115 | 118
LI 156 | 158 | 164 | 158 | 154 | 142 | 135 | 135 | 137 | 140 | 151 | 168 | 171
"4 93 94 95 90 88 80 79 83 88 91 102 | 119 | 122
| t5 143 | 144 | 145 | 140 | 137 | 130 | 129 | 133 | 138 | 141 | 152 | 169 | 172
t6 182 | 182 | 181 | 176 | 173 | 165 | 164 | 168 | 173 | 177 | 188 | 205 | 208
= tl — 50 — — — — — — — — — — —
- t2 — 83 89 83 79 67 60 60 62 65 76 93 96
t4 — 19 — — — — — — — — — — —
‘1t — 114 | 115 | 110 | 107 | 100 99 103 | 108 | 111 | 122 | 139 | 142
E 6 — 152 | 151 | 146 | 143 | 135 | 134 | 138 | 143 | 147 | 158 | 175 | 178
(mm)
P1-A2F%f | Pl GE3 S3 8 C9 C10 | C11 | c12 | C13 | Cl14 S4 | GE4
tl 118 | 117 | 115 | 100 88 80 76 75 78 84 93 95
LA 171 | 170 | 167 | 152 | 141 | 133 | 128 | 128 | 130 | 136 | 146 | 147
w4 122 | 121 | 119 | 104 92 84 80 79 81 87 97 99
A 172 | 171 | 169 | 154 | 142 | 134 | 130 | 129 | 131 | 137 | 147 | 149
6 208 | 207 | 204 | 189 | 178 | 170 | 165 | 164 | 167 | 173 | 183 | 184
Sl tl — — — — — — — — — — — —
- t2 96 95 92 77 66 58 53 53 55 61 71 —
t4 — — — — — — — — — — — —
71 15 142 | 141 | 139 | 124 | 112 | 104 | 100 99 101 | 107 | 117 —
E 6 178 | 177 | 174 | 159 | 148 | 140 | 135 | 134 | 137 | 143 | 153 —
A R D EHE IS (mm)
@® @ ® @ ® ©, @ ©
FHAEIE (1) 80 84 158 87 137 | 173 88 138 | 173
= (L) — — 83 — 107 | 143 — 108 | 143
)t EHIEE PR t5 : BESAR A
t2 : JE LR t6 : A5 HhEE N

t4 @ BESRELE




O — B I FE
L | EAE (m2) A (m2) T A (m2) A (m2)
al 0. 8502 all 0. 0957 a2l 14.1972 a3l 0. 6043
a2 4.1317 al2 0.2102 a22 9.1089 a32 1.0148
a3 7.4751 al3 3.1217 a23 4. 4652 a33 6. 1533
a4 8. 6595 al4 5. 4670 a24 2. 3850 a34 3. 8081
a5 8.4137 alb 7.1749 a25 1. 7530 a3b 2.1001
a6 3.9115 al6 8.3079 a26 0. 9897 a36 0.9673
a7 3. 3467 al7 8. 7449 a27 1. 1438 a37 0. 5300
a8 5. 6869 al8 8. 5661 a28 3. 5881 a3s 0. 7089
a9 3. 2370 al9 7. 8480 a29 6. 0380 a39 1. 4270
al0 0. 1963 a20 6. 4567 a30 1. 0286 a40 2.8183
a & 166. 7313
TR | A (m2) T (m2) A5 (m2) T A5 (m2)
a4l 6.8373 a51 0. 6069 a6l 5.9257 a7l 0.0431
a42 6. 0372 a52 1. 0201 a62 6. 0330 a72 0.1174
a43 4. 0558 a53 6. 1904 a63 7.2128 a73 2.4221
a44 2.3717 ab4 3. 8279 ab4 8.0161 aT4 4. 7846
a45 1. 7596 a55 2.1094 a65 7.7476 a7b 6. 5031
a46 0. 9938 a56 0.9726 a66 3. 5661 a76 7. 6400
ad7 1. 1489 a57 0. 5326 ab7 3. 0209 a7l 8. 0798
a48 3. 6027 a58 0.7036 a68 5. 0098 a8 7. 9089
a49 6. 0632 a59 1. 4072 a69 2. 5493 a79 7.2054
a50 1. 0330 a60 2. 8130 a70 0.1045 a80 5. 7995
B R 153. 7766
AR — B 1 F

[fi & (m2) i 5 (m2) i 5 (m2) i (m2)

a8l 4.7319 a86 2. 4592 a9l 0. 3570 a96 4. 73025
a82 4. 7444 a87 2.2911 a92 0. 62475 a97 4. 73025
a83 4.7671 a88 4.73025 a93 4. 73025 a98 4. 73025
a84 4.7673 a89 4.73025 a94 4. 73025 a99 4. 73025
a85 4.7673 a90 0. 62475 a95 4. 73025 al00 4. 73025
B & 77.4373

) EFEIX, CADFHHI L 0 B,







FIE R — AR T R = iR

HiAE (m2) | FEIE (m) | fARF5 (m3) HiAE (m2) | SEEIE (m) | A5 (3)

al 0. 8502 0.123 0.105 a6l 5.9257 0.110 0. 652
a2 4.1317 0.116 0. 479 a62 6. 0330 0.108 0. 652
a3 7.4751 0.105 0.785 a63 7.2128 0.105 0. 757
a4 8. 6595 0.101 0. 875 ab64 8.0161 0.102 0. 818
a5 8.4137 0.101 0. 850 a65 7.7476 0.103 0. 798
ab 3.9115 0.103 0. 403 a66 3. 5661 0.105 0. 374
a7 3. 3467 0.105 0. 351 ab7 3. 0209 0.107 0. 323
a8 5. 6869 0.109 0. 620 a68 5. 0098 0.111 0. 556
a9 3. 2370 0.116 0. 375 a69 2. 5493 0.118 0.301
al0 0.1963 0.121 0.024 a70 0.1045 0.123 0.013
all 0. 0957 0.121 0.012 a7l 0. 0431 0.123 0. 005
al2 0.2102 0.121 0.025 a72 0.1174 0.123 0.014
al3 3.1217 0.116 0. 362 a73 2. 4221 0.118 0. 286
al4 5. 4670 0.110 0. 601 aT4 4. 7846 0.112 0.536
alb 7.1749 0.105 0. 753 a7b 6. 5031 0.107 0. 696
al6 8.3079 0.102 0. 847 a76 7. 6400 0.104 0.795
al? 8. 7449 0.100 0.874 a7l 8. 0798 0.102 0. 824
al8 8. 5661 0.101 0. 865 a8 7.9089 0.103 0.815
al9 7.8480 0.103 0. 808 a79 7.2054 0.105 0. 757
a20 6. 4567 0.107 0. 691 a80 5. 7995 0.109 0. 632
a R 201. 5914 21. 309




HUEF — R = o 7 U — MEFE

wEiAE (m2) | EAE () | A (3) HAE (m2) | AR (m) | A5 (m3)

a2l 14. 1972 0. 068 0. 965 a4l 6. 8373 0. 068 0. 465
a22 9.1089 0. 067 0.610 a42 6. 0372 0. 067 0. 404
a23 4. 4652 0. 062 0. 277 a43 4. 0558 0. 062 0. 251
a24 2. 3850 0. 057 0.136 a44 2.3717 0. 057 0.135
a2b 1. 7530 0. 055 0. 096 a4b 1. 7596 0. 055 0. 097
a26 0. 9897 0. 056 0. 055 a46 0. 9938 0. 056 0. 056
a27 1. 1438 0. 057 0. 065 a7 1. 1489 0. 057 0. 065
a28 3. 5881 0. 060 0.215 a48 3. 6027 0. 060 0.216
a29 6. 0380 0. 067 0. 405 a49 6. 0632 0. 067 0. 406
a30 1. 0286 0.072 0. 074 a50 1. 0330 0.072 0. 074
a3l 0. 6043 0.073 0. 044 a51 0. 6069 0.073 0. 044
a32 1.0148 0.072 0.073 ab2 1. 0201 0.072 0.073
a33 6. 1533 0. 067 0.412 ab3 6. 1904 0. 067 0.415
a34 3. 8081 0.061 0. 232 a4 3. 8279 0.061 0. 234
a3b 2.1001 0. 056 0.118 ab5 2.1094 0. 056 0.118
a36 0. 9673 0. 053 0.051 a56 0.9726 0. 053 0. 052
a37 0. 5300 0. 052 0. 028 a57 0. 5326 0. 052 0. 028
a38 0. 7089 0. 052 0. 037 a58 0.7036 0. 052 0. 037
a39 1. 4270 0. 054 0.077 a59 1. 4072 0. 054 0.076
a40 2.8183 0. 058 0.163 a60 2. 8130 0. 058 0.163
a F 118.9165 7.542

B — T a7 U — MERE

HAE (m2) | FEIE (m) | A5 (m3) EiAE (m2) | SEEIE (m) | AFE (3)

a8l 4.7319 0.133 0. 629 a9l 0. 3570 0. 160 0. 057
a82 4. 7444 0.129 0.612 a92 0. 62475 0. 158 0. 099
a83 4.7671 0.121 0. 577 a93 4. 73025 0. 149 0. 705
a84 4.7673 0.117 0. 558 a94 4. 73025 0. 136 0. 643
a85 4.7673 0.119 0. 567 a95 4. 73025 0.126 0. 596
a86 2. 4592 0.123 0. 302 a96 4. 73025 0.120 0. 568
a87 2.2911 0.127 0. 291 a97 4. 73025 0.117 0. 553
a88 4.73025 0.135 0. 639 a98 4. 73025 0.118 0. 558
a89 4.73025 0. 149 0.705 a99 4. 73025 0.122 0. 577
a90 0. 62475 0. 159 0. 099 al00 4. 73025 0.130 0.615
a0 77. 4373 9. 950




8-1 HL E
8-1-1 BRi7T A=y ( t= 35 mm )

A = 166.7313 + 153.7766

= 320.5079
= 320.5 m2

8-1-2 Hpir 2=y ( t= 40 mm )
A= 320.5 m2

8-1-3 FWHEEMBL T A2

t = 21.309 / 201.5914 X 1000 — 35 — 40

= 31 mm
A = 201.5914
= 201.6 m2
8-1-4 FH&ka 7 J— | (ock= 18 N/mm2)
V = 7.542
= 7.5 m3

8-1-5 [hkE ( BEE )

A = 320.5 m2

8-1-6 [T B ikt ( 5mm X 30mm )

L= 687 + 8097 + 28.683 + 11.019
+ 9.382 + 28.683 + 6.750
= 104.8 m

+ 5.317



82 A B

8—2-1 Bhi7T A=z ( t= 30 mm )
A = 77.4373
=  77.4 m2
8-2-2 a7V —bF (ock = 18 N/mm2 )
V = 9.950
= 10.0 m3

8-2-3 Bh/KfE ( WA )

A = 77.4 m2

8-2-4 AL H Hut ( 5mm>X 30mm )

L = 5343 + 9.369 + 28.670 + 1.787 + 5.562
+ 9.262 + 28.558 + 1.785
= 90.3 m

R H HikE 100m22Y4 V) S

L = 104.8 +90.3 = 195.1 / (320.5 + 77.4 ) X 100
= 49.0 m/100m2



kX B
jsih ¥ T C2
(m)
) ) CDx%I-30H | 11.168 | HIE
ALl [ ZTa7zdadgr k
NxZ1-30 ] 1.789 | HEM
) ) CDx1-30 ] 6.750 | HLEA]
A2l [ TeTYa Ak
NxZ1-30 H 1.785 | HEM
- CDx%4-30H
L = 11.168 + 6.750
=  17.9 m
- Nx%-30 /1
I =1.789 + 1.785
= 3.6 m
9-2 7 A— ( Ml SD345 )
H &=
2 i C2
( kg )

D16 |75 24 a2




9-3 ¥TH=2 27—k (ock = 36 N/mm2, BEET )

s & M #ro

) RS EX & FHE | EX
(m) (m) (m) (m) (m) (m)

0.400 | 0.110 | 11.168 | 0.350 | 0.153 | 11.168
Al {1l

0. 400 0.110 1.789 0. 350 0. 163 1.789

0.400 | 0.110 | 6.750 | 0.350 | 0.142 | 6.750
A2 8

0. 400 0.110 1. 785 0. 350 0. 167 1.785

V1-A1 = 0.400 X 0.110 X 11.168 4+ 0.350 X 0.153 X 11.168
= 1.089 m3

V2-A1 = 0.400 X 0.110 X 1.789 + 0.350 X 0.163 X 1.789
= 0.181 m3

V3-A2 = 0.400 X 0.110 X 6.750 + 0.350 X 0.142 X 6.750
= 0.632 m3

V4-A2 = 0.400 X 0.110 X 1.785 + 0.350 X 0.167 X 1.785
= 0.183 m3

V =1.089 + 0.181 + 0.632 + 0.183
= 2.085 m3

9-4 >—nkr ( U=z %K)

g X JBES | R & | gk BALAE

( mm ) (m) [Cra)] (1/m3 )
0.922 1
A1 a1 50 X 30 0.532 1
0.501 1

1000

0. 850 1
A2 A 50 X 30 0.532 1
0. 500 1

VI-Al = 0.050 X 0.030 X ( 0.922 + 0.532 + 0.501 ) X 1000
= 291

V2-A2 = 0.050 X 0.030 X ( 0.850 + 0.532 + 0.500 ) X 1000
= 281

V=29 + 2.8
= 571



10. ¥ K L
10-1 HEAME ( FC250 , SS400, HEighA v % )

No— 8 e CRO — 2006 kedd )
N= 4 »pF (W0 = 20.6 kg/# )

10-2 fEWrgKeE (1 ATV 7% )

10-2-1 ¢ 18
E & A%
(m) |(CA)
44, 45 1 HE
44.12 1 HE

L =44.45 X 1 + 44.12 X 1

=  88.6 m
10-2-2 ¢ 12

E & | A%

(m) |(CA)

43. 28 1 B

L =143.28 X 1
= 43.3 m

10-3 BEWREKRE ( A7V 7%, ¢12 )

E S | KK

(m) (&)

11. 14 1 HE
1.81 1 HE
6. 78 1 HiE
1.92 1 HE

L =11.14 X 1 + 1.81 X 1 + 6.78 X 1 + 1.92 X 1
= 21.7 m
KA 100m22Y4 v $ &
L =88.6 +43.3 + 21.7 = 153.6 / (320.5 + 77.4 ) X 100

= 38.6 m/100m2

10-4 A5 7 KL—y ( SUS304 )
A (B 0D -
N = 12 # 6 i 2



N

11. & H#

11-1 =k HBA M (

T

CHlL

, H=850 mm

fgn A % )

E— 42586
= 426 n
TR~
N= 46 #H
11-2 m M B B (e , Cf , H=1000 mm , HifnA > )
b 42272
= 423 =
VAV A VI
N= 46 #A
MR (EEER) FNMCS—p385 (7R C)
S5 £ # <t ik o B BUHE ¥ 2 B 82 EJaput:d
[Ez: HB50 x 205 x 125 $5400 13.14 23 302.2 HDZ55
E=S ® 76.3x2.8t STK400 5.08 42421 m 215.5 HDZ40
3 |xEMR $114.3x4. 5t " 12.20 42421 m 517.5 HDZ55
4 | FEMR ® 89.1x2. 8t " 5.96 42421 m 252.8 HDZ40
5 |zy—7 ® 65.0x4.0tx135 " 0.81 20 16.2 HDZ55
6 " $101.6x4. 5t x 300 " 3.23 21 67.8 "
7 " ¢ 76.3x4. 2t x300 " 2.23 20 44.6 "
8 |mfRL b M12x 35 O WD | sapeeesy 6. Bk 0.06 184 1.0 HDZ35
9 |7yh—RL b 1-M20 x 300 (N3, W1, SH1) " 0.86 46 39.6 "
10 " M20 x 220 NLWLSHD| s 4. 6k 0.68 46 31.3 "
1 |\7oh—FL—+ 9t x 100 x 200 $5400 1.36 23 31.3 —
12 [ %vv7 ¢ 76.3x30 7rEy 0.24 2 0.5 —
13 " $114.3x30 " 0.47 2 0.9 —
14 " ¢ 89.1x30 " 0.30 2 0.6 —
15 |z2y—7 | ¢ 65.0x4. 0t x300 STK400 1.80 1 1.8 HDZ55
16 " <>l ¢ 76.3x4. 2t x 300 " 2.23 1 2.2 "
& 1535.8 kg
[hiEMmE  42.586 m
SREQY 14
-Ré#(F RIOmBLE RIBOm#) : L = 6.462 m
- HEIFR ML < 0%XAE 23F >
MEER  sEm FHCS—p4100 (G ©)
#e % # <t 3 # = BEE % 8 " & RERE
[z H1000 x 205 x 125 $5400 14.95 23 343.9 HDZ55
BREZS ® 76.3x2.8t STK400 5.08 42.107 m 213.9 HDZ40
3 |xEHp $114.3x4 5t " 12.20 42.107 m 513.7 HDZ55
4 | FEMR $ 76.3x2.8t " 5.08 84.214 m 427.8 HDZ40
5 |zy—-7 ® 65.0x4.0tx135 " 0.81 20 16.2 HDZ55
6 " $101. 6 x4. 5t x 300 " 3.23 21 67.8 "
7 " ® 65.0x4.0t x 300 " 1.80 40 72.0 "
8 |mfdaL b M12x 35 o] s 6. 8pk 0.06 232 13.9 HDZ35
9 |7uh—HiL b 1-M20 x 300 (N3, W1, SW1) " 0.86 46 39.6 "
10 " M20 x 220 NLWLSID| s 4. 6 sk 0.68 16 31.3 "
M l7vh—FL—+ 9t x 100 x 200 $5400 1.36 23 31.3 —
12 (2097 $114.3x30 T 0.47 2 0.9 —
13 " ® 76.3x30 " 0.24 6 1.4 —
4 1zy—>7 | ¢ 65.0x4. 0t x300 STK400 1.80 3 5.4 HDZ55
At 17791 ke
hEMmE 42.212 m
CREGE 4R
-Re#f(F RIOmELE RIBOm#) : L = 5007 m
- RERIFR ML < 0%XAE 23F >
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0.7700 m2
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= 81 m2
12-3 8
" &
7 s i} G
( kg )
D13 40
Sh345 o
b6 —97 82| WREIXEHSH
PR 137
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— 126 B (el 300X200%13 ¥

N= 1 #&



